Q.1

Miscellaneous Exercises - 5

Multiple choice questions. Four

possible answers are given for the following

questions.

Tick mark ( ) the correct

answer.

L.

(3]

The different number of ways to describe
asetare

(@) 1 (by 2
(¢) 3 (d) 4
The set {x/xe W Ax<101}is
(a) infinite set  (b)
(c) Null set (d)

A collection of well-defined distinct
objects is called
(a) subset

subset

finite set

(b) power set

(c) set (d) none of these
If Ac Bthen Au Bis equal to
(a) A (b) B

iy

Aset Q= —Z—Ia,beZ/\biO 1s called a

set of
(a) Whole numbers

(b) Natural numbers

(c) Irrational numbers

(d) Rational numbers

If Ac Bthen A— Bisequal to

(a) A (b) B

(c) ¢ (d) None of these

If A and B are disjoint sets, then AU B is
equal to

(a) A (b) B

(c) ¢ (d) BUA

The number of elements in power set
{1,2,3} is

(a) 4 (b)y ©

(c) 8 (d)y 9

9.

10.

11.

12.

13.

14.

15.

16.

17.

18.

A set with no element is called
(a) subset (b)
(c) singleton set (d)
If Ac Bthen AnBisequal to

empty set

super set

(@) A (b) B

(c) ¢ (d) None of these
The set having only one element is called
(a) Null set (b) power set

(c) singletonset (d) subset

The relation {(1,2),(2,3),(3,3)(3,4)} is
(a) onto function

(b) into function

(¢) not a function

(d) one-one function

If Ac B and BC A , then

(a) A=B (b) A#B

c) AnB=¢g (d) AuB=9¢

Power set of an empty set is
(@) ¢ ) {a}
© {ofal} @ {g}

If number of elements in set A is 3 and in

set B is 4, then number of elements in
AxB is

(@) 3 (b) 4

(c) 12 @ 7
Point (-1,4) lies in the quadrant
(a) I (b)y 1

(c) II (d)y 1V

The domain of R
={(0,2),(2,3),(3,3)(3,4)} is

(@) {034} (b) {0,2,3)

(c) {0,2,4) (d {2,3.4)

The point (=5, =7) lies in ... quadrant
(a) 1 (b) 1I

(c) (d 1V



I~
I

(8]
wn

26.

27.

28.

It number of elements in se Ais 3 and in

set B 15 2

relations in AxB is

(@ 2 (by 2°

(¢) 28 @ 22

(AU ByUCisequal to

(@) AN(BUC) (b) (AUB)NC)
©  AUBUC) W) AN(BAC)

It AmMB=¢, then set A and B are ... sets.
(a) sub (b)
(¢) disjoint (d)
AU (BNC)isequal to
(@) (AUB)N(AUO)
(b AN(BNC)

() (ANB)N(ANOC)
(d) AU(BUC)

The range of {(a,a), (b,b), (c,c)} is......

over lapping
power

(@) {ab} (b) {ab.c}
(©) f{a) (d) ¢

The complement of @ is ......
(a) U (b) ¢

(c) 1mpossible (d) union
ANA = ...

(a) U (b) A

(c) A° d ¢

Venn diagram was first used by.......
(a) John Venn

(b) Netwon

(¢) Arthur Cayley

(d) John Napier
Theset { xlxeAandx e B }is......
(a) AUB (b) ANB

(c)y A-B (d) B-A

The Range of R
={(1,3),(2,2),(3,1)(4,4)} is

(a) {1,2,4} (b) (3,24}

(c)y (1,234} (d)y {1,34)

2, then number of binary

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

NUW=_....

@ ¢ ) {0}

(¢) N (d W

y co-ordinate of every pint on x — axis is..
(a) +ve (b) -ve

(c) zero (d) 1

By definition, which of the following is a

set?
(a) {a,b,c,a} (b) {1,2,3,2}
{O, 1,2,3, I}

The domain of {(a,b), (b,c), (c,d)} is...

{ .m,n,0}

(@) {abyc} (b) {b,c,d}
(c) {ab} (d) {abycd,}
The complement of Uis ...

(@ U (b) ¢

(c) 1impossible (d) union
AUA“= ... .

(a) U (b)y A

(c) A° d ¢

Which of the following is true?
(a) PcNcZcW
(b) PcNcWcZ
(c) PcWcNc?Z
(d) PcZcNcW

W-N=....

@ ¢ (b) {0}

© N d) W
N-W=_... .

(@ ¢ (b). {0}

(c) N (d W

The relation {(a,b),(b,c),(a,d),}is. ..

(a) afunction (b) nota function

(c) range (d)  domain gser)

x co-ordinate of every pint on y — axis is..
(a) +vec (b) -—ve

(c) zero (@ 1



0.

41.

43.

44,

46.

47.

438.

Which of the following is true?
(1) WcN

by Zcw

(¢) NcP

@ Pcw

A subset of AXA is called...... in A.
(a) set (b) relation

(¢) function (d) into function

Which of the following is true?

() NandWc?Z

(b) PandOcW

(c) OandEcW

(d) PandEc N

If xe A and xe B, then {x} is equal to

(a) A-B (b) A°

(c) AmB (d B

The point (4, —6) lies in .... Quadrant
(a) I (b)y IO

(¢) 1I (d) IV

[f A — B and range of f # B, then f is

(a) into function

(b)  onto function

(c)  bijective function
(d) function

[f A — Band range of f =B, then f is

(a) 1into function

(b) onto function

(c) bijective function

(d) function

[f set A has all its elements common with

set B then set A is called....set

(a) sub (b) overlapping
(c) disjoint (d) super
OUuE=......

(a) ¢ (by O

(c) E (d)y 72

49,

50.

51.

52.

53.

54.

55.

Which of the following is commutative
law?

(@) Au(BuC)=(A
b) An(BNC)=(AN
(c) AnB=BnNnA

d) )JAUB("=A°NB°
Which of the following is associative law
of intersection?

uB)uC
B)nC

(@) Au(BuC)=(AuB)uC
(b) Am(BmC) (AnB)NnC
() Au(BNnC)=(AuB)n(AuC)
(d) Am(Buc) (AnB)u(ANC)

Which of the following is distributive
property of intersection over union?

(@) Au(BuC)=AuU(BuC)

(b)) AN(BNC)=(ANnB)NC

() Au(BNnC)=(AuB)n(AuUC)
(d An(BuC)=(AnB)u(ANC)
NnW=_...

@ o (b) {0}

(¢) N d W

If A is subset of U, then (AC)C: ......
(a) A by A€

© ¢° (d U

If two sets have some elements common
but not all are called....sets.

(a) sub (b)
(c) disjoint (d). super

Which of the following is De-Morgan's
law?

(a) (AUB)UC=AU(BUC)

overlapping

() JANB(“=ASUBS

(©) AU(BNC)=(AUB)N(AUCQ)

(d) An(BuUC)=(AnB)U(ANC)



o
o

60.

61.

Which of the following is associative law

F umion® 62. Il xeU and x¢ A, then {x} is equal
of union?
(El) (BUC)z(Z'\UB)U | {0
(a) U° (b) A€
(b) r\m(BmC)z(AmB)m
| () ¢ (d) A-U
©  AU(BNC)=(AUB)N(AUC) B o
. NE=.......
(d) (BUC)=(AF\B)U(A(‘1C) @@ o (b) O
O-E=...... ) E d) Z
E‘l: 0 () O 64. Aand ACare ........ sets
¢ E d Z ‘versal b lappin
[t union and intersection of two sets are (@) uTH.VPfISd ( d) over 'dppl &
equal then sets are ...... sets. (c) ~disjornt . (@ ?uPel. e
(a) disjoint (b) overlapping 65. Which of the following is distributive
(©) equal (d) super property of union over intersection?
Which of the following is complete (@) AU(BuC)_:Au(Buc)
description of Real numbers? (b) AN(BNC)=(AnB)NC
OERAND SRt | 0 asbrostaoniae
E-O= d) AN(BuC)=(AnB)u(ANnC)
@ o b)) O 66. If xe Aand x¢ B, then { x } is equal
(c) E d Z t0.eeinnn.
Two sets having no common element, are (a) A-B (b) B-A
called ............ sets. ¢
A
(a) subet (b) overlapping (© ANB (@)
(c) disjoint (d) super
ANSWER KEY|
1 c 2 d 3 c 4 b 5 d 6 C 7 d 8 C
9 b 10 a 11 C 12 | ¢ | 13 a |14 | d | 15| ¢c |16 | b
17 | b | 18 | ¢ 19 | b [ 20 | ¢ |21 | ¢ | 22| a |23 | b |24 | a
25 | d | 26 | a | 27 | ¢ | 28 | ¢ |29 | d |30 | c |31 ]| c |32 a
"33 | b | 34 | a | 35| b |3 | b |37 ] a|38|b[39]c|4]d
41 b |42 | a | 43 | c | 44 | d | 45 | a |46 | b | 47 | a | 48 | d
49 | ¢ | 50 | b | 51 d |52 | c | 53| a |5 | Db |5 |b|56]|a
57| b | 58| ¢ |59 d |60 | c |6l | c|62|Db|63]alo6d]|c
65 C 66 a



Q.2 Write short answers of the following
questions.
(1) Define a subset and give one example.
Subset: If A and B are two sets and every
element of A is an element of B then set A is
called subset of set B. It is denoted by AcB.
Example: A ={1,2},B=(l, 2, 3,4}
As all elements of Set A are also present in Set
B. Theretore AcB.
(i1) Write all subsets of the set {a, b}
Solution:

All subsets (2" = 2> =4)

{ }. {a}, {b}, {a, b}
(ii) Show ANB by Venn Diagram when

A c B.

Solution:
IfAcBthenANnB=A

&’
ANB

Horizontal line segments show ANB
(iv) Show by Venn Diagram AN(BuUC)

Solution:

U

AN(BUC) by Venn diagram

» Horizontal line segments and squares
show BUC.

»  An(BuUC) is shown by squares.

(v) Define intersection of two sets.

Intersection of two sets:

The intersection of two sets A and B, written

as ANB (read as A intersection B) is the set

consisting of all the common elements of A

and B.

(vi) Define a function.

Function: Suppose A and B are two non-

empty sets, then relation f : A—B is called a

function if

1) Domf=A

(ii) Every x € A appears in one and only and
ordered pair in f.

(vii) Define an one — one function.

One - one function:

A function f : A — B is called one — one

function, if all distinct elements of A have

distinct images in B, 1.e:

f(x)) = f(x2)

VX #Xx2€ A

X]=X2€ A or
f(x1) # f(x2)
(viii) Define an onto function.
Onto function:

f: A— B is called an onto
function, if every element of set B is an image

A function

of at least one element of set A.
i.e. Range of f =B
(ix) Define a Bijective function.
Bijective function:
A function f : A — B is called bijective
function iff function f is one-one and onto.
(x) Write De Morgan’s law.
De Morgan’s Law:
If two scts A and B are the sub sets of U then
De-Morgan’s laws are expressed as
(1) (AUBY=A"NnB’
(11) (ANB)Y=A"ubB’



Q.3 Fill in the Blanks

L.
1.
1.
by,
V.
V1.
V1L,

V111,

1X. .

X.

x1.

X11.

X1il.

Xiv.

XV.

XVI.

It Ac Bthen AUB = .
It AnB = ¢then A and B are
It A< B and B c Athen
AN(BuO)=_
AUBNCO)=

The complement of U is

The complement of @is

AnA'=_

AvA =

The set {x‘xe Aand x¢ B}=_____
The point (-5, -7) lies in

quadrant.
The point (4,-6) lies in
quadrant.
The y co-ordinate of every point is
on x-axis.
The x co-ordinate of every point is
on y-axis.

The domain of {(a,b), (b,c), (c,d)} is

The range of {(a,a), (b,b), (c,c)} is

xvii. Venn-diagram was  first  used
by .
xviil, A subset of A x A 1s called the n
A.
xix. [If f:A—— Band range of =B, then
fisan function.
xx. The relation of {(a,b), (b,c), (a,d)} is
function.
Answers:
(1) B (i1) Disjoint sets
() A=B (iv) (AmB)u(AmC)
v)  (AuB)n(AUCQ)
(vi) ¢ (vity U
(viii) ¢ (ix) U
x) A\B (xi)  Ilrd
(xii) IVth
(xi11) Zero (xiv) Zero
(xv) {a,b,c}
(xvi) f{a,b,c} (xvii) John venn

(xviii) Binary relation

(x1x)

onto (xx)  not



